2N BB
FH: HH2IIH(Z =) (OIEH/IIE)
=Rl JI=23sl (el &
= X XH Ctol (o (=] o HASZ OH X‘—-IL‘EL‘:— =2}t
SZ=Tu 29,576,239 29,848,180 A271,941
= 5,769,519
= 5,357,000
7 2,107,635
= 134,821
o 16,207,264
AY2LZH(Z =) (OIEH/IIE) 74,345 74,345 0
Jl=2& 74,345 74,345 0
Jl=38l 74,345 74,345 0
201 et 28,308 28,308 0
01 At22telH 26,508 26,508 0
Oget+=2H| 18,780,000 18,780
o=l 7,000 23 *541%0.8x 122 7,728
02 524t 1,800 1,800 0
Os32= & HA 150,000 x12& 1,800
202 O 41,837 41,837 0
01 SLHAOH 41,837 41,837 0
OFA2Z JI2gfFa ol 33,120,000 33,120
ozoitl(AaE 4 S)
75,8003 x23E x5 8,717
203 YR =& 4,200 4,200 0
04 FA2SERFIH 4,200 4,200 0
ORMSILRFT(ZA30210I5H)
350,000 x12& 4,200
Aot el (BEES/AoteE - =F) 18,814,282 17,765,264 1,049,018
= 4,090,000
= 5,357,000
7 2,089,635
< 87,000
= 7,190,647
A2y X 22t 932,679 381,629 551,050
& 495,000
s 437,679
At Ulsdsr HES 221,080 151,080 70,000
401 AIZHI XL 2HHI 221,080 151,080 70,000
01 AI&HI 220,000 150,000 70,000
OAl$H AT AH0I4LE HESAY
30,000,000 «5H 4 150,000
ORY 4002 201452 HE=SA
40,000,000& * 14! 40,000
ORT SS0IS 20I4+E HLBA
30,000,000 141 30,000
03 AM&=20HYI 1,080 1,080 0




SN BASC
HE: NOILCUR (BYBS/MGHAE - 4R)
S R LT (S5l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
OMlat 2QAXT 20I42E HBHAL AL
= CH| 150,000, 0002 %0.72/100 1,080
AR 2TAE AL 711,599 230,549 481,050
=l 495,000
2 216,599
401 Al&HIL 20| 711,599 230,549 481,050
=l 495,000
2 216,599
01 Al&H] 707,143 228,900 478,243
OARDHT AL JH2EATLS 707,143,0002 707,143
3 495,000
2 212,143
03 Al& S H| 4,456 1,649 2,807
OARRATAE WA ALY
707, 143,0002 x0.63/100 4,456
(N 206,000 160,400 45,600
= 24,000
2 182,000
A0 HXAL 20,000 0 20,000
401 Al&HIL 20| 20,000 0 20,000
01 Al&H] 20,000 0 20,000
OARBLEAE YAEI| Y
2,000,000 * 1074 4 20,000
(EP 106,000 80,400 25,600
201 LByl 106,000 80,400 25,600
01 Attt 106,000 80,400 25,600
OARDLETAE SHAA 242
400, 00024 #2654 2 106,000
SHENE 445 FIet2e 80,000 80,000 0
= 24,000
2 56,000
307 QI2H0I 80,000 80,000 0
= 24,000
2 56,000
05 PIZteIE2 80,000 80,000 0
OS0l& Ot2 a4 9IS22]Hl 80,000,0008! 80,000
= 24,000
2 56,000
o+ S H ALY 2,160 2,160 0
Bt E YA 2,160 2,160 0
202 01t 2,160 2,160 0
01 2UhoiH| 2,160 2,160 0




SN BESED
HH: Mol H2(BBES/HG+E - +3)
&2l St== &AL (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OZdstx g X &el 2 ot A
=& 20,0002 x3&H 3L« 123 2,160
HEE SSUH (M= ALSESA) 9,273,965 5,546,638 3,727,327
= 4,862,000
= 63,000
= 4,348,965
A ars=E2tel 513,158 873,857 A 360,699
101 el H| 90,388 60,901 29,487
04 JIZtHIZ2E2NEE S 90,388 60,901 29,487
ONBIEE ABZ 2E =Y
34,9102 x8H+20 123 67,028
O4tEE =z 67,028,000& =0.0985 6,603
O&+& HM=&Y 2FY 34,9103 +8F 60 16,757
201 LetI| 384,682 268,916 115,766
01 AtER22/Hl 63,552 45,396 18,156
Oget=gH| 58,752
—&=E MEZ DXAM eI
65,0003 x35* 128t A 2,340
—A4E ABE DNMEZ 23 79
66,0003 122/ 792
—&==E O=HIID 228 ¢ 3,160
ItECIX 250,000& »62] 1,500
ZEH 2d3(5M) 66,000& 102/ 660
Zele 23 (2eh) 200,000& *53] 1,000
—4+IAME SRWLY 7Y
1,000,000& 33 3,000
—at=E HEJE oM 100 *2Z+4,0000H 800
— 445 ASE USOH HBIHH XS
70,0003 *12& 840
—as=E s & H =EHA 26,820
= F2 35,000 *30 & *523 5,460
== 2 1,160,000& 123 13,920
= 271 1,500,000& *43l 6,000
=Al HE A 60,0003 *242] 1,440
—d=& HIIZE ™eldl 150,000 +35m" 43| 21,000
OIl=H(H¥2ZZ Il=Hl) 2,700
— &= 60,000 x9H »23| 1,080
—29 30,000& 9% *13l 270
—Ys= 100,000 «9H x 13| 900
— st 50,0003 9 x13 450
O=&Hl 7,000 «5H«5L «12& 2,100
02 2234l 321,130 223,520 97,610
O232= ¥ HMAl 133,230
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SA: SRS
NB NGHAE R (BRES/NGAE - 4F)
tel: 9tes SSUHH (AT AIESESA) (e E2
B . M. CHe (5 CHEAY BN Al OH HEE Hl =2+
= 565,600
01 Al&HI 625,000 345,000 280,000
okL=za=z 100,000, 000 =4 .85km 485,000
& 63,000
= 422,000
O=AHEI 300,000& »200& 60,000
OLZz2Z &= 80,000,000 80,000
03 AIE=20bI 3,600 2,160 1,440
OLF&=z WXk A 2048l 3,600,000 3,600
AT 2 2182+ 84,000 70,000 14,000
401 AIEHIZ 2] 84,000 70,000 14,000
01 Al&HI 84,000 70,000 14,000
OM4E 42 AB22H)
1,400,000& *60H 2~ 84,000
s S23AM 30,000 30,000 0
401 AIEHIZ 2 30,000 30,000 0
01 Al&t| 30,000 30,000 0
O&5 =3 At 1,000, 0002 *307H 2 30,000
P aE =714 302,160 100,900 201,260
401 AIEHIZ 2 302,160 100,900 201,260
01 Al&HI 300,000 100,000 200,000
Oogd = == BT AM
100,000,000 *2. 2km 220,000
OYaas=& J 40,000, 0002 *2J4 2 80,000
03 AI&=20HdI 2,160 900 1,260
Ogdas == RS AF AlE 201
0,000,000& *0.72/100 2,160
PEMAEE Z+72Y 402,880 100,900 301,980
401 AIEHIZ 2RI 402,880 100,900 301,980
01 Al&HI 400,000 100,000 300,000
ORga=k = LI A
100,000, 000 *4km 400,000
03 AI&=0HdI 2,880 900 1,980
ORENLE 2 TA AlEROH
0,000,000& *0.72/100 2,880
SE sHE MEZE 1,996,308 492,521 1,503,787
= 1,562,000
= 434,308
401 AIEHIZ 2 1,996,308 492,521 1,503,787
= 1,562,000
= 434,308
01 Al&HI 1,990,000 489,000 1,501,000




SN BHECD
HE: AGIATHR(BPBS/NOLE - 2 H)
Sl o2 TIUE(METASSHIIH) (el &2
: _ o HEC -
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
O MY SOEMEES HLAL
1,990,000, 0002 * 14! 1,990,000
z 1,562,000
2 428,000
03 Al& S H| 6,308 3,521 2,787
OB MY SOEMEES HLAY ALY
6,308,000%! 6,308
Hel S01&E MBE4 HEAY 432,089 0 432,089
z 300,000
2 132,089
401 Al&HIL 20| 432,089 0 432,089
z 300,000
2 132,089
01 Al&H] 429,000 0 429,000
Ol SOHEMBES HLAL
429,000, 0002 * 14! 429,000
z 300,000
2 129,000
03 Al& S H| 3,089 0 3,089
OO SOEMERE HLAY ALY
429,000,00021%0.72/100 3,089
DEFLHLIAE 2,000,000 1,006,300 993,700
3 1,000,000
2 1,000,000
401 Al&HIL 20| 2,000,000 1,006,300 993,700
3 1,000,000
2 1,000,000
01 Al 2,000,000 1,000,000 1,000,000
OA0IT DEF2HEIAL ST AL
2,000,000,00024 2,000,000
3 1,000,000
2 1,000,000
LB DN LA 2,884,770 2,445,000 439,770
z 2,000,000
2 884,770
401 Al&HIL 20| 2,884,770 2,445,000 439,770
2 2,000,000
2 884,770
01 Al&H] 2,877,570 2,445,000 432,570
OO HLAY  2,877,570,0008 14! 2,877,570
3 2,000,000
2 877,570
03 Al&=THYl 7,200 0 7,200
OLHOID4 HLAY SOHl 7,200,009 7,200
SRRl L R (SBHLALSEEIA) 1,673,002 3,736,668 2,063,666
= 1,167,000




SN
X XH .
S Tt

el

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
| 300,000
[ 206,002
oAZISt=HMelAE HMels MHolE ALY 1,673,002 362,592 1,310,410
= 1,167,000
| 300,000
= 206,002
401 AEHIZROHb] 1,673,002 362,592 1,310,410
= 1,167,000
J| 300,000
= 206,002
01 Al&HI 1,667,000 360,000 1,307,000
O2gdZEot==HelAld Xels HOISASE
1,667,000,000& 1,667,000
= 1,167,000
| 300,000
= 200,000
03 Al 20HY| 6,002 2,592 3,410
Oodz3ot=XcelAld HMel+= THOISAE Al
A2l 1,667,000,000& *0.36/100 6,002
HEDOIE ot=SEHUIAIG (EMEALSESIA) 1,184,248 1,505,190 A 320,942
= 826,000
| 210,000
= 148,248
=02 ot AE XA 1,184,248 459,284 724,964
= 826,000
J| 210,000
= 148,248
401 AIEHIZ 2 1,184,248 459,284 724,964
= 826,000
| 210,000
= 148,248
01 Al&H| 1,180,000 456,000 724,000
O=d0tE o= Ald EXIAY
1,180,000,000& 1,180,000
= 826,000
J| 210,000
= 144,000
03 Al =20HY| 4,248 3,284 964
O=MOtE o= Ald EXIALS Al R0Y|
1,180,000,000& *0.36/100 4,248
St AHIHIAMY (EINEAIESESIH) 1,697,088 1,909,851 AN212,763
= 1,184,000
J| 305,000
= 208,088
olF(HY,2H otel, Jtell 27 )6t=201 FHIAY 1,697,088 1,909,851 A212,763
= 1,184,000
| 305,000
[ 208,088




SN BESED
HE: NGACRR(BIEE/MOEE - 2F)
Sl ST ALY (SEIHH AR S H) (el &
_ _ SIEN
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
401 AlEHIZ S THYI 1,697,088 1,909,851 A212,763
2 1,184,000
Il 305,000
2 208,088
01 Al&HI 1,691,000 1,903,000 A 212,000
OO (¥, 2, stal, a2 R)5 =200 =)
A 1,691,000,000& 1,691,000
= 1,184,000
Il 305,000
= 202,000
03 AIZ20i4l 6,088 6,851 AT63
OO (B, 2, sl2l, 2 R)si+ 2 2y
A2 AL S THEL 1,691,000, 0002 %0.36/100 6,088
St HUIAIG (=EIMLAMLEE S H) 2,852,753 2,507,110 345,643
Il 1,201,000
i 1,651,753
2B 2 &4 342,610 342,610 0
401 A EHIL 201 342,610 342,610 0
01 Al&tt] 340,000 340,000 0
Odts=E &4 A 90,000, 000& 90,000
Odt=2 2158 EAtY 250,000,000& 250,000
03 AIZ SR04l 2,610 2,610 0
StaE EEAY AERHY
90,000,000 *0.90/100 810
OBt42 23 2aAe ALY
250,000,000% *0.72/100 1,800
SHII=ANE 222 2,510,143 1,964,500 545,643
p) 1,201,000
= 1,309, 143
201 Let2d| 657,143 414,300 242,843
Il 210,000
i 447,143
01 At 2l 29,643 25,600 4,043
Oget=gHl 29,643
SRR ¥ 2RH442 DA P
60, 00021 %108 A 600
472 BB JET S|
9,681,000& *374 2 29,043
02 B2 627,500 388,700 238,800
OZZ22 % WAl 428,500
—ot=% E2/Hl 1,300,000& 1,300
—EFJI=A4E &JI= 30,000,000 «12& 360,000
Il 180,000
2 80,000




SN BESED
HE: NGATRR(BIEE/MOET - 2F)
Sl ST HHIA (AR HLALSHEIH) (el &2
- MNuE o
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
—A72 BBotaHeIAE HIIQI
350, 0002 * 167 A * 128 67,200
| 30,000
= 37,200
OAN&EZEHIS XY 199,000
—BHIZNE DL SN S2
40,000,0002! 40,000
—AE2 S3ot=HelAE SN2
20,000, 000& 20,000
—2BSHS) FE2A 2 29
30,000,000& 30,000
—BHIIEIIL JSHEO BE ALHA
109,000, 000& 109,000
307 212t01& 1,560,000 1,425,200 134,800
p) 880,000
= 680,000
05 BItRE = 1,560,000 1,425,200 134,800
OdII=A4 Q2SS 1,400,000,000& 1,400,000
Il 800,000
2 600,000
OARE ZBELHAIL D2
10,000, 000& * 160 £ 160,000
Il 80,000
s 80,000
401 Al&HI YL SO 270,000 70,000 200,000
Il 101,000
i 169,000
01 Al&HI 270,000 70,000 200,000
OBFIZAL L 472 BBFH4H2IAL 2
324 70,000,0002! 70,000
| 35,000
i 35,000
O}NE2n Hels WM (MTHH)AE &5
200,000, 000& 200,000
Il 66,000
i 134,000
405 KHaHESHI 23,000 25,000 22,000
Il 10,000
= 13,000
01 T =SS HSHI 23,000 25,000 A2,000
OFII=ANLE2EEH 2 23,000
—dEa DYHRI L ABEHRII RDHT
= 20,000,000& 20,000
Il 10,000
i 10,000
—ZCIZRIIH (M ZED], HOIS0H) P
600, 000& *5H 3,000
oEEme(LAMMANLSH ) 73,635 160,000 86,365




SA: SRS
B NG E RO (BARS/AAE - 23)
cel: oelZzmel(ENMAYSE ) crol e
S B (3H) - NEAY - BHAS A} OH &EIE =
| 73,635
I s 73,635 160,000 A 86,365
J| 73,635
207 AN 73,635 160,000 A86,365
| 73,635
01 Hx2=29dl 73,635 160,000 A86,365
OdAR2EAH| 73,635
—HiE A2AIE DTLEHE 24,135,000& x14] 24,135
| 24,135
—oEF LIASTTA#AE OIHE N HA
49,500,000& *14] 49,500
J| 49,500
SSHA QE==H2IAIE &X] 918,752 ,855,618 936,866
= 913,000
iy 5,752
feEssHA QEHsM2AIE D& HeAtS 918,752 ,006,300 A87,548
= 913,000
o 5,752
401 AEHIZ 20U 918,752 ,006,300 A87,548
= 913,000
o 5,752
01 Al&HI 913,000 ,000,000 A87,000
ORE=s3EHA QE=XHEAE DEXelAY
913,000, 000& 913,000
= 913,000
03 AlE=0HYI 5,752 6,300 A548
OFRd=s3HA QE=XMEAE D&M
INR=Eu sl 913,000, 000& *0.63/100 5,752
HIOISX2s 2 Hel(8dES/HIIE) , 179,469 ,253,364 AT73,895
= 11,000
o , 168,469
HII2 X2l , 179,469 ,253,364 AT73,895
= 11,000
] = , 168,469
HIIZEX2IANE2H ,018,561 ,074,463 255,902
201 Et23| 549,121 550,321 A 1,200
01 AtR2t2ldl 153,127 151,867 1,260
Ogt=2Y| 139,729
—MADIERH AHES MR 2
3533 *10H*13,000AI CH*12& 55,068
—-338 25 ME P (50L)
1063 20, 0000H 2,120
—ME=2E 22|41 PPOHH (40kg) &
100& *20, 0000H 2,000




SN BALE
M2 HOIZXES 2 Hel(HY2S/HIIS)
Sl HIIZ R

SN EY O (BH) - MRAY - BLS 01l & o e
—MHEE28 22+ PPOILI(1E) #¢
6,000 x1,0000H 6,000
—2& =HOIH(0.58) 2 4,000 *2000H 800
—MYDISEM & ZHEES HH
300& *2Z+1,0000H 600
—MYIIBYEEI Z0E HE
100, 000& *26H 2,600
—SH ¥ UHEs EF EHIE HE
50,000& *500H 2,500
—=S8SIHII= Mele===
1,000,000& *23| 2,000
~UEHIIE M SR
10,000& *100CH 1,000
—HoI2dE 24 2= 200,000& *103| 2,000
—MYOIE HEE AP 7Y
200,000 *10& *128] 24,000
— MDDl EE8A P WA 200,000&*53 1,000
— MO A2 ARZE 7Y
20,0003 105128 2,400
— AN TSN EF442
7,000,000& *12] 7,000
— MY D& LA ZAIT
350, 0003 4= *23] 2,800
MR HES SRUNLESR
331,000 x12& 3,972
— MY I & FHIGIE HAl=2
169,800 935 43| 6,113
—MYI|IE F=H OtSXots L Sa5 A
= 421,000& *23| 842
—MEIE ®IGEBR (ESR
200,000& x12& 2,400
—AAL ODIRY ERALR
400,000& 123 4,800
—42FAlA HIATH e el
210,000& 20& 4,200
—AZAE HEEYY AANSLEE
200,000& * 12l 200
—MgII& CCTVE Xt =2 110,000 *12& 1,320
— M| ALY ES =4z 22,0008 +123 264
~MEBHEE TcD 7Y
10,0002 »10& *122] 1,200
—Nsx HIIZAL =5 55,0002 *3CH*23| 330
—MgD|IMMeld FHstx FA
100, 0002 *2IH 2~ 200
oz2gd=s¢ 1,400
—HIIZHM2AlE F=EXY FLUXEDIS
70,0003 x5H x4 3| 1,400
OF=1=i:] 3,808




SN

2ALED

A HOISXNES ¥ Hel(HEES/HIIS)
e HIl=Hel (ehel: =3
SA-EFH - SA(SAH) - MREAY - BES Off &F K glgaf; HusZ
—MYIIFE0 & HEX NEHSL SAMS
7,000& ~6H 23| x 128 1,008
—MJIHEE HA2SXN SAMNS
7,000& 10 *30& 2,100
—SJENADII2E BA2RKN SAMNS
7,000& «20H x5 700
O=dll=td & & L=l 8,190
—&g= 80, 000& 21 »23] 3,360
—29 30,000 #2118 +12] 630
—gets 100,000& »21H *12] 2,100
— ot 3t 50,0003 212 #2353 2,100
02 3323l 395,994 398,454 A2,460
O332= ¥ HAl 80,500
— MDA E MIIRS 76,440
A= A=) 5,790& »350kw+ 122 24,318
MNER= 68& *2, 100kwh*3652 52,122
—ANSXHEE 3,060
- 83 =gl 1,200,000& =13 1,200
-EHEEH 940,000& *13! 940
- =4 920,000& *13! 920
— (AN EI=HJI S0 e & 3yl
1,000,000& *13] 1,000
(@feiR=d] 7,647
MeDIE HAF HEY A=
1,062 %40 £ 180 7,647
OAl£ ZHIs Xl 287,847
—Xego1E H20 &l 1,000,000 = 1CH 1,000
—2SYA S| 250,000& = 10CH 2,500
—MEBELAEEZ ALEH 2=
500,000& *5& 2,500
—aZAIE HEEYY Ea & B
1,000,000& 122 12,000
—A2AIE DH EA R B
1,000,000& »23 2,000
-4z WR 4 E B
2,000,000& #23] 4,000
—aZAE 2ERFH
1,409& +70 £ +BAl 2t+300 236,712
—=24) 70U
1,409 %12.5 4 =4 Al 2t+300L 21,135
—=4)| #=c| & 22 500,000& »23! 1,000
—a2ts ANEEH 2+ 1,000,000& 53 5,000
OXtgtd et 20,000
—dH3=Z2|(2BHE) 10,000,000& *1CH 10,000
—EIZEZY(5E) 10,000,000& *1CH 10,000




SN BFLED

MM HIISXE 2L Ml (HFES/HIIS)
el moled™el

_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRE2
203 R ETY| 1,000 1,000 0
03 AZFXHRFAH| 1,000 1,000 0
OMIIMHEIE QIRGHL HRFE Y|
20,000& x5H x103] 1,000
206 M=l 24,540 24,540 0
01 M=H| 24,540 24,540 0
A2AANE JtAXE 4F 2L 8,700
— A3 200& *20kg*300 1,200
—2HE 2,5002 10kg*3002! 7,500
OMYIIF ol L ASAHE g
30,000& 1 £ =200 6,000
OMYI| 224AE 428 28 7
200,000& *10&+22] 4,000
OMI| B4 HUAE 7Y 5,840
— =S8 5,000& *x2kg*365 3,650
—ENL20lE 20021 ¥30kg*3652 2,190
401 A EHIL 204 427,900 322,066 105,834
01 Al&HI 424,840 319,906 104,934
OFIMHRIT £24E N2 DABA
50,000,000 * 14! 50,000
OMEMYIIAMHRIT 26 AETLETA
350,000, 000& » 14 350,000
OAZAE HDITAE HDIE DHZA
138,000 180 24,840
03 AIZ SR04l 3,060 2,160 900
OFAMHe T A2E N2 DHTA AL 20|
50,000,000& *1.08/100 540
OMEMI|MHIT 28 ANEZS BA
INE=E ] 350,000,000% *0.72/100 2,520
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